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STATISTICS AND PROBABILITY

Objective Questions Multiple Choice Questions

1. A bag contains 3 red, 5 black and 7 white

balls. A ball is drawn from the bag at random.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nHjTUn7ZjnCt

The probability that the ball drawn is not

black, is

N %

o
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Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_nHjTUn7ZjnCt

2. The mean and mediam of a distribution are

14 and 15, respectively. The value of the mode

is:

A.16

B.17

C.18

D. 13

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_TIfIihJBOrxI

3. While computing the mean of grouped data,

we assume that the frequencies are:

A. evenly distributed over all the classes.

B. centred at the classmarks of the classes.

C.centred at the upper limits of the

classes.

D. centred at the lower limits of the classes.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_B0nQtg1UdjuM

4. If ¢;,’s are the mid-points of the class
intervals of the grouped data, f;’s are the
corresponding frequencies and z is the mean,

then (f;x; — x) is equal to :

A.O

C.1

D. 2

Answer: A



https://dl.doubtnut.com/l/_B0nQtg1UdjuM
https://dl.doubtnut.com/l/_XEmFDJKlr4mI

View Text Solution

5. Consider the data:

The difference of the upper limit of the modal

class is:
Closs . Fregquency
B5-85 4
85-105 5
105-125 13
125-145 20
145-165 14
165-185 Y
185-205 4 i
A.O

B.19


https://dl.doubtnut.com/l/_XEmFDJKlr4mI
https://dl.doubtnut.com/l/_AHYbyA2h9Cni

C. 20

D. 38

Answer: C

o View Text Solution

6. The times, in seconds, taken by 150 atheletes
to run a 110 m hurdle race tabulated below:

The number of atheletes who completed the


https://dl.doubtnut.com/l/_AHYbyA2h9Cni
https://dl.doubtnut.com/l/_YK1QWRITBLj1

race in less then 14.6 seconds is:

_ Frequency
, 2
i 14-14.2 4
| 142-144 5
14.4-14.6 71
14.6-14.8 48
| 14815 | 20

A 11

B. 71

C. 82

D. 130

Answer: C

l ° View Text Solution


https://dl.doubtnut.com/l/_YK1QWRITBLj1

7. Consider the following frequency
distribution of the heights of 60 students of a
class:

The upper limit of the median class in the

given data is:

e e e B e

H:Ight[ln :m} ISD 155[155 160|160-165

No of students| 15 13 10 |

Height (in cm) | 165-170|170-175[175-180]

o —

No of students| 8 B_b ]

—_— e e e b e



https://dl.doubtnut.com/l/_YK1QWRITBLj1
https://dl.doubtnut.com/l/_dJ2HirHYxV5f

C. 160

D. 170

Answer: A

° View Text Solution

8. If an event cannot occur, then its probability

is:

Al


https://dl.doubtnut.com/l/_dJ2HirHYxV5f
https://dl.doubtnut.com/l/_ulPcIVp7bQ19

Answer: D

° View Text Solution

9. Which of the following cannot be the

probability of an event?

Al
3

B.0.1


https://dl.doubtnut.com/l/_ulPcIVp7bQ19
https://dl.doubtnut.com/l/_QplZIFT4L6ir

C.3%

17
16

Answer: D

° View Text Solution

10. If P(E) = 0.005, then the probability of "not

E" is:

A.0.05

B.0.5


https://dl.doubtnut.com/l/_QplZIFT4L6ir
https://dl.doubtnut.com/l/_WVJCb1VOtK3g

C.0.995

D.0.95

Answer: C

o View Text Solution

11. The probability expressed as a percentage

of a particular occurrence can never be:

A. less than 100

B. less than O


https://dl.doubtnut.com/l/_WVJCb1VOtK3g
https://dl.doubtnut.com/l/_kXphERYn5kmU

C. greater than 1

D. anything but a whole number

Answer: B

° View Text Solution

12.If P(a) denotes the probability of an event a,

then:

A.P(a) <0

B.P(a) > 1


https://dl.doubtnut.com/l/_kXphERYn5kmU
https://dl.doubtnut.com/l/_B60KxtJG9wBS

C.0 < P(a) < 1

D.—1< P(a) <0

Answer: C

o View Text Solution

13. A number from numbers 1 to 100 was
chosen at random. What is the probability
that this number is a prime number that lies

between 75 and 857


https://dl.doubtnut.com/l/_B60KxtJG9wBS
https://dl.doubtnut.com/l/_tfZgK5JlmxWl

Answer: B

o View Text Solution

14. A card is selected from a deck of 52 cards.

The probability of its being a red face card is:


https://dl.doubtnut.com/l/_tfZgK5JlmxWl
https://dl.doubtnut.com/l/_9ijNWVNvBROe

Answer: A

o View Text Solution

15. When a die is thrown, the probability of

getting an odd number less than 3 is:


https://dl.doubtnut.com/l/_9ijNWVNvBROe
https://dl.doubtnut.com/l/_bGDRIXnUb03U
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Answer: A

o View Text Solution

16. The probability of getting a bad egg in a lot
of 400 is 0.035. The number of bad eggs in the

lot is:


https://dl.doubtnut.com/l/_bGDRIXnUb03U
https://dl.doubtnut.com/l/_8A1MJxLVQ8kr

A7

B.14

C. 21

D. 58

Answer: B

o View Text Solution

17. A girl calculates that the probability of her

winning the first prize in a lottery is 0.08. If


https://dl.doubtnut.com/l/_8A1MJxLVQ8kr
https://dl.doubtnut.com/l/_hXMSgvogrLGy

6000 tickets are sold, how many tickets has

she bought?

A.40

B. 240

C. 480

D. 750

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_hXMSgvogrLGy

18. One ticket is drawn at random from a bag
containing tickets numbered 1 to 40. The
probability that the selected ticket has a

number which is a multiple of 5 is:

@ >
w|l—= o ow o=

0

o

Answer: A

‘ ° \iawr TavE CAaliikian



https://dl.doubtnut.com/l/_AsRAFPuA9PhF
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19. Someone is asked to take a number from 1

to 100. The probability that it is a prime is:

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_AsRAFPuA9PhF
https://dl.doubtnut.com/l/_BY4mH07et1lC

20. A school has five houses A, B, C, D and E. A
class has 23 students, 4 from house A, 8 from
house B, 5 from house C, 2 from house D and
the rest from house E. A single student is
selected at random to be the class monitor.
The probability that the selected student is

not from A, B and C is:


https://dl.doubtnut.com/l/_BY4mH07et1lC
https://dl.doubtnut.com/l/_LknKgur9zZbf

17
23

Answer: B

° View Text Solution

21. A set of numbers consists of three 4s, two
5s, six 6s, eight 8s and seven 10s. What is the

mode of this collection of numbers?

A.10

B.7.5


https://dl.doubtnut.com/l/_LknKgur9zZbf
https://dl.doubtnut.com/l/_ACYc2WoW5QWz

C.7

D.8

Answer: D

o View Text Solution

22. If a letter is chosen at random from the
letter of English alphabet, then the probability

that it is a letter of the word 'DELHI' is:

Al
5


https://dl.doubtnut.com/l/_ACYc2WoW5QWz
https://dl.doubtnut.com/l/_jj3Ru4h2Ajzl

Answer: C

o View Text Solution

23. A dice is thrown twice. The prabability of
getting 4,5 or 6 in the first throwand 1, 2,3 or

4 in the second throw is:


https://dl.doubtnut.com/l/_jj3Ru4h2Ajzl
https://dl.doubtnut.com/l/_vXpdhIYspwnt

= N = W W]

Answer: A

° View Text Solution

24. The median of a set of 9 distinct

observations is 20.5. If each of the largest 4


https://dl.doubtnut.com/l/_vXpdhIYspwnt
https://dl.doubtnut.com/l/_WIYbn9VX3pfQ

observation of the set is increased by 2, then

the median of the new set:

A.is increased by 2.

B. is decreased by 2.

C. is two times the original median.

D. remains the same as that of the original

set.

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_WIYbn9VX3pfQ

Objective Questions Fill In The Blanks

1. Fill in the below blanks/tables with suitable
information:
The probability of an event that is sure to

happen, is ..o

o View Text Solution

2. Fill in the below blanks/tables with suitable

information:


https://dl.doubtnut.com/l/_hQ7y6rjHUG7v
https://dl.doubtnut.com/l/_pwGbrFbVuZYL

If the probability of an event E happening is

0.023, then P(E) = oo .

° View Text Solution

3. Fill in the below blanks/tables with suitable
information:

A number is chosen at random from the
numbers -5, -4, -3,-2,-1,0, 1, 2, 3, 4, 5. Then the
probability that square of this number is less

than or equal to Tis ...reeeeee.

° View Text Solution



https://dl.doubtnut.com/l/_pwGbrFbVuZYL
https://dl.doubtnut.com/l/_uz7JVweWa1r7

4. Fill in the below blanks/tables with suitable
information:

Mode of observations 4,3,1,2,3,4,4 IS ...

o View Text Solution

5. Fill in the below blanks/tables with suitable
information:

Number of face cards in a pack of 25 cards is

l o View Text Solution


https://dl.doubtnut.com/l/_uz7JVweWa1r7
https://dl.doubtnut.com/l/_uMlQnlIXu1U8
https://dl.doubtnut.com/l/_5ub2UiThH2wF

6. Fill in the below blanks/tables with suitable
information:

When a digit is choosen at random from the
digits, 1 to 9, then the probability of this

chosen digit to be a prime number is ................

° View Text Solution

7. Fill in the below blanks/tables with suitable

information:


https://dl.doubtnut.com/l/_5ub2UiThH2wF
https://dl.doubtnut.com/l/_N1ZlxaWsMGGj
https://dl.doubtnut.com/l/_XLeEkVIxR2vO

The upper limit of the medium class of the

following frequency distributions is ...

. Class 0-5 |6-11}12-17{18-23|24-29
(Frequency | 13 | 10 | 15 | 8 | 11

° View Text Solution

8. Fill in the below blanks/tables with suitable
information:

...................... Is calculated using the formula:
N

5 —¢f
— X

b.
f

[ +

° View Text Solution



https://dl.doubtnut.com/l/_XLeEkVIxR2vO
https://dl.doubtnut.com/l/_ZhGXa5V2x9gO

9. Fill in the below blanks/tables with suitable
information:

The probability of getting a number which is
neigher prime nor composite in single throw

of adiceis ... )

o View Text Solution

10. Fill in the below blanks/tables with suitable

information:


https://dl.doubtnut.com/l/_ZhGXa5V2x9gO
https://dl.doubtnut.com/l/_RC8Vnfz9WQv4
https://dl.doubtnut.com/l/_lhI4zbBsieaX

Total number of outcomes in a single throw of

three coins is ...

° View Text Solution

Objective Questions Very Short Answer Type

Questions

1. The mean and median of a distribution are

both equal to 635.97 . Find the mode.

° View Text Solution



https://dl.doubtnut.com/l/_lhI4zbBsieaX
https://dl.doubtnut.com/l/_n2WiQPbSLqzb
https://dl.doubtnut.com/l/_ZZlf0z6pz3Up

2. Two dice are thrown simultaneously. What is
the probability that the sum of the two

numbers appearing on the top is 137

° View Text Solution

3. Find the class marks of the classes 15 - 35

and 45 - 60.

o View Text Solution



https://dl.doubtnut.com/l/_ZZlf0z6pz3Up
https://dl.doubtnut.com/l/_j7yZRZZpgOkk

4. A die is thrown once. What is the probability

of getting a prime number.

° View Text Solution

5. A pair of dice is thrown once. What is the

probability of getting a doublet?

o View Text Solution



https://dl.doubtnut.com/l/_qo3jCazeYc3w
https://dl.doubtnut.com/l/_wZ3ertGvycaF

6. A die is throw once. What is the probability

of getting an even prime number?

° View Text Solution

7. A letter of the English alphabet is chosen at
random. What is the probability that the

chosen letter is a consonant?

° View Text Solution



https://dl.doubtnut.com/l/_6tOUatZi0rkW
https://dl.doubtnut.com/l/_k8365yivGH2s

8. A die is thrown once. What is the probability

of getting a number less than 3?

° View Text Solution

9. If the probability of wining a game is 0.07,

what is, the probability of losing it?

o View Text Solution



https://dl.doubtnut.com/l/_TTG9q2uW6DKg
https://dl.doubtnut.com/l/_nIDRcnKyXUpO

10. The probability of selecting a rotten apple
randomly from a heap of 900 apples is 0.18.
What is the number of rotten apples in the

heap?

o View Text Solution

1. A card is drawn at random from a well
shuffled pack of 52 playing cards. Find the
probability of getting neither a red card nor a

queen.

| & I


https://dl.doubtnut.com/l/_THMPBfvbEG2M
https://dl.doubtnut.com/l/_NmZ5hSbC1GX8

| ¥ View Text Solution |

12. A bag contains 3 red and 5 black balls. A
ball is drawn at random from the bag. What is

the probability that the drawn ball is not red?

o View Text Solution

13. Two different dice are tossed together. Find
the probability that the product of the two

numbers on the top of the dice is 6

o View Text Solution



https://dl.doubtnut.com/l/_NmZ5hSbC1GX8
https://dl.doubtnut.com/l/_nNduiH8OV9dB
https://dl.doubtnut.com/l/_s0DoPxtH2S7c

14. Write the empirical relationship among the
three measures of central tendency mean,

mode and median.

o View Text Solution

15. Sarita buys a fish from a shop for her
aquarium. The shopkeeper takes out a fish at

random from a tank containing 10 male fish


https://dl.doubtnut.com/l/_s0DoPxtH2S7c
https://dl.doubtnut.com/l/_wc2kOe9RedCB
https://dl.doubtnut.com/l/_S4wiAYlM5xvU

and 12 female fish. What is the probability that

the fish taken out is a female fish?

o View Text Solution

16. A bag contains 5 red, 8 green and 7 white
balls. One ball is drawn at random from the
bag. Find the probability of getting neither a

green ball nor a red ball.

o View Text Solution



https://dl.doubtnut.com/l/_S4wiAYlM5xvU
https://dl.doubtnut.com/l/_PjvEJpErPxqV

17. Find the class marks of the classes 20 - 50

and 35 - 60.

° View Text Solution

18. Two dice are thrown simultaneously. What
is the probability that the product of the

number appearing on the top is 1?

° View Text Solution



https://dl.doubtnut.com/l/_9VGQuinBBSFS
https://dl.doubtnut.com/l/_dT0AqD9yWAyV

19. When we toss a coin, there are two

possible outcome - heads or tails. Therefore,
. .1 .

the probability of each outcome is 7 Justify

your answer.

° View Text Solution

20. The mean of 20 observations is 12. If each
observation is increased by 5, then find the

new mean.

° View Text Solution



https://dl.doubtnut.com/l/_A7Z4bBjHJoZZ
https://dl.doubtnut.com/l/_z1aANuSUv2LY

21. A letter is chosen from the letters of the
word MAINTENANCE. What is the probability

that it is N?

o View Text Solution

Short Answers Sa | Type Questions

1. What is the probability that a randomly

taken leap year has 52 Sundays?

l ° View Text Solution


https://dl.doubtnut.com/l/_z1aANuSUv2LY
https://dl.doubtnut.com/l/_0OX0Qbh1BnZO
https://dl.doubtnut.com/l/_HdOxFLikGsoP

2. A number is selected at random from
natural numbers 1 to 20. Find the probability

that the selected number is a prime number.

° View Text Solution

3. A number is chosen at random from the
number -3, -2, -1, 0, 1, 2, 3. What will be the
probability that square of this number is less

than or equal to 17



https://dl.doubtnut.com/l/_HdOxFLikGsoP
https://dl.doubtnut.com/l/_Ns2cQQ6xHdI8
https://dl.doubtnut.com/l/_M84J3iwWX83M

View Text Solution

4. If two different coins are tossed together,

then find the probability of getting two heads.

° View Text Solution

5. A letter of the English alphabet is chosen at
random. Find the probability that the chosen

letter is a letter of the word 'Trignomerty.

° View Text Solution



https://dl.doubtnut.com/l/_M84J3iwWX83M
https://dl.doubtnut.com/l/_4VfuNYcBgPWv
https://dl.doubtnut.com/l/_ZUGTbzLch5se

6. 20 tickets, on which numbers 1 to 20 are
written, are mixed thoroughly and then a
ticket is drawn at random out of them. Find
the probability that the number on the drawn

ticket is a multiple of 3 or 7.

o View Text Solution

7. Cards maked with number 3, 4, 5, .., 50 are
placed in a box mixed thoroughly. A card is

drawn at random from the box. Find the


https://dl.doubtnut.com/l/_ZUGTbzLch5se
https://dl.doubtnut.com/l/_Fg6XmL56xsLz
https://dl.doubtnut.com/l/_gpYHrbjpPs9s

probability that the select card bears a perfect

square number.

° View Text Solution

8.1n a family three children, there many be no

girl, one girl, two girls or three girls. So, the
1

probability of each is —. Is this correct? Justify

4

your answer.

o View Text Solution



https://dl.doubtnut.com/l/_gpYHrbjpPs9s
https://dl.doubtnut.com/l/_t4hMnuBMKKJd

9. A game consist of spinning an arrow which
come to rest pointing at one of the three
regions (1, 2 or 3) (see figure). Are the
outcomes 1,2 and 3 equally likely to occur?

Give reasons.

o View Text Solution



https://dl.doubtnut.com/l/_eQ7h47foIVrP

10. find the mode of the following distribution:

Marks I 0-10 10-20 20-30 30-40 40-50 50-60

Number ﬂffs__gadmw T4 6 7 12 5 6

o View Text Solution

. Find the mode of the following

distributions :

Classes “0-20 20-40 40-60 60-80 80-100
Frequency 10 8 12 16 4

o View Text Solution



https://dl.doubtnut.com/l/_eQ7h47foIVrP
https://dl.doubtnut.com/l/_YYDxpamfcDho
https://dl.doubtnut.com/l/_xKVF2Ikk2uII
https://dl.doubtnut.com/l/_w2csOu9OAhu3

12. | toss three coins together. The possible
outcomes are no heads, 1 head, 2 heads and 3
heads. So, | say that probability of no heads is

T What is wrong with this conclusion?

o View Text Solution

13. A bag contains slips numbered from 1 to
100. If Fatima chooses a slip at random from
the bag, it will eigher be an odd number or an

even number. Since this situations has only


https://dl.doubtnut.com/l/_w2csOu9OAhu3
https://dl.doubtnut.com/l/_BZnIf7gX81kJ

two possible outcomes, so. The probability of

1
each is E.Justify.

o View Text Solution

14. A Group Housing Society has 600
meembers, who have their houses in the
campus and decided to hold a Tree Plantation
Drive on the occation of New Year. Each
household was given the choice of planting a
samplings of its choice of planting a

samplings of its choice. The number of


https://dl.doubtnut.com/l/_BZnIf7gX81kJ
https://dl.doubtnut.com/l/_8FeVWJXRKMpA

different types of saplings planted were.

(i) Neem - 125

(i) Peepal - 165

(i) Creepers - 50

(iv) Fruit plants - 150

(v) Flowering plants - 150

On the opening ceremony. One of the plants is
selected randomly for a prize. After reading
the above passage, answer the following
questions.

What is the probability that the selected plant
is:

A fruit plant or a flowering plant?


https://dl.doubtnut.com/l/_8FeVWJXRKMpA

o View Text Solution

15. A Group Housing Society has 600
meembers, who have their houses in the
campus and decided to hold a Tree Plantation
Drive on the occation of New Year. Each
household was given the choice of planting a
samplings of its choice of planting a
samplings of its choice. The number of
different types of saplings planted were.

(i) Neem - 125

(i) Peepal - 165


https://dl.doubtnut.com/l/_8FeVWJXRKMpA
https://dl.doubtnut.com/l/_kkEhGZQHvlkC

(iii) Creepers - 50

(iv) Fruit plants - 150

(v) Flowering plants - 150

On the opening ceremony. One of the plants is
selected randomly for a prize. After reading
the above passage, answer the following
questions.

What is the probability that the selected plant
is:

Either a Neem plant or a Peepal plant ?

o View Text Solution



https://dl.doubtnut.com/l/_kkEhGZQHvlkC
https://dl.doubtnut.com/l/_5K2qkGsqMVTH

16. Find the mode of the following frequency

distribution:

20-25 25:30 | 30-35 35-40 40-45

° View Text Solution

17. If a number x is chosen at random from the
number -3, -2, -1, 0, 1, 2, 3, What is probability

that 2 < 47

° View Text Solution



https://dl.doubtnut.com/l/_5K2qkGsqMVTH
https://dl.doubtnut.com/l/_HSFffyUXEDuQ

18. If X, M and Z are denoting mean, median
and mode of a data and X: M =9: 8, then the

ratioM:Zis ?

o View Text Solution

19. Find the mean of the following

distribution:

Class 43-5)5-7]|799-11 |11-13
Frequency | 5 | 10 | 10 | 7 8

o View Text Solution



https://dl.doubtnut.com/l/_BPzxA3hDDvcS
https://dl.doubtnut.com/l/_XfFtQ4MSmvtc

20. Find the mode of the following data:

(Class 0-20 20-40 40-60 60-80 | 80-100 | too-120 | 120-140
Frequency 6 8 10 12 6 5 3

o View Text Solution

21. A child has a die whose 6 faces show the
letters given below:

The die is thrown once. What is the probability
of getting

A

[A] iB] [C] [Al [A] [B]



https://dl.doubtnut.com/l/_LiAiq78oKmXL
https://dl.doubtnut.com/l/_P5bNlfrrFDTY

\ ° View Text Solution

22. A child has a die whose 6 faces show the
letters given below:

The die is thrown once. What is the probability
of getting

B?

4] B8] [C] [A] [A] [B]

° View Text Solution



https://dl.doubtnut.com/l/_P5bNlfrrFDTY
https://dl.doubtnut.com/l/_pIuNOy2JRDGt

23. A card is drawn at random from a pack of
25 playing cards. Find the probability of
drawing a card which is neither a spade nor a

king.

° View Text Solution

24. A die is thrown once. Find the probability
of getting a number which

is a prime number

° View Text Solution



https://dl.doubtnut.com/l/_Gm9EVRxfOuSp
https://dl.doubtnut.com/l/_osPbu1MAXoYs

25. A die is thrown once. Find the probability
of getting a number which

lies between 2 and 6.

o View Text Solution

26. 20 cards from 11 to 30, are put in a box and
mixed thoroughly. A card is then drawn from
the box at random. Find the probability that
the number on the drawn card is a prime

number.


https://dl.doubtnut.com/l/_osPbu1MAXoYs
https://dl.doubtnut.com/l/_DAZNuaZOlvG2
https://dl.doubtnut.com/l/_4FSYHJVWRQPQ

° View Text Solution

27. Find the probability that in the leap year

there will be 53 Tuesdays.

o View Text Solution

28. Two different dice are thrown together.
Find the probability that the product of the

numbers appeared is less than 18.

o View Text Solution



https://dl.doubtnut.com/l/_4FSYHJVWRQPQ
https://dl.doubtnut.com/l/_RiBzQhT7bFIc
https://dl.doubtnut.com/l/_D64H5Vzh9X5T

29. 15 cards numbered from 1to 15 are put in a
box and mixed thoroughly. Then, a card is
drawn at random from the box. Find the
probability that the number on the drawn

card is divisible by 2 or 3.

o View Text Solution

30. An integer is chosen between 70 and 100,
Find the probability that it is

a prime number


https://dl.doubtnut.com/l/_D64H5Vzh9X5T
https://dl.doubtnut.com/l/_jLBBRy7M6P8p
https://dl.doubtnut.com/l/_YNJxCXN0GU9z

° View Text Solution

31. An integer is chosen between 70 and 100,
Find the probability that it is

divisible by 7

° View Text Solution

32. Two different dice are tossed together.
Find the probability:

of getting a doublet

| e |


https://dl.doubtnut.com/l/_YNJxCXN0GU9z
https://dl.doubtnut.com/l/_69HNDjZvaKw1
https://dl.doubtnut.com/l/_PVSkCtOUFKwo

L ® View Text Solution I

33. Two different dice are tossed together.
Find the probability:
of getting a sum 10, of the numbers on the

two dice.

° View Text Solution

34. An integer is chosen at random between 1
and 100. Find the probability that it is:

divisible by 8.


https://dl.doubtnut.com/l/_PVSkCtOUFKwo
https://dl.doubtnut.com/l/_ww0CLWWaK1UL
https://dl.doubtnut.com/l/_s31Qp0WXDyYG

o View Text Solution

35. An integer is chosen at random between 1
and 100. Find the probability that it is:

not divisible by 8.

o View Text Solution

36. Amrish wakes up in the morning and
notices. That his digital clock reads 07 : 25 am.

After noon, he looks at the clock again.


https://dl.doubtnut.com/l/_s31Qp0WXDyYG
https://dl.doubtnut.com/l/_AVr1oO79LFLt
https://dl.doubtnut.com/l/_QVT1jqNZJVGM

What is the probability that:

the number in column Ais a 4?

o View Text Solution

37. Amrish wakes up in the morning and

notices. That his digital clock reads 07 : 25 am.


https://dl.doubtnut.com/l/_QVT1jqNZJVGM
https://dl.doubtnut.com/l/_GrFeJeQjSbl8

After noon, he looks at the clock again.
What is the probability that:

the number in colummn B is an 8?

o View Text Solution



https://dl.doubtnut.com/l/_GrFeJeQjSbl8

38. A die is thrown twice. Find the probability

that 5 will not come up either time.

o View Text Solution

39. Cards marked with number 5 to 50 are
placed in a box and mixed thoroughly. One
card is drawn at random from the box. Find
the probability that the number on the card
taken out is

a prime number less than 10

| & I


https://dl.doubtnut.com/l/_B4zDg6GVdoJj
https://dl.doubtnut.com/l/_zUZnHg7ab4d2

| ¥ View Text Solution |

40. Cards marked with number 5 to 50 are
placed in a box and mixed thoroughly. One
card is drawn at random from the box. Find
the probability that the number on the card
taken out is

a number which is a perfect square.

o View Text Solution



https://dl.doubtnut.com/l/_zUZnHg7ab4d2
https://dl.doubtnut.com/l/_kJcojMfOrMqy

41. Find the mean of the distribution:

Class 1-3 3-5 5-7 7-10
Frequency = e 9 22 27 i7

o View Text Solution

42.Two dice are thrown at the same time. Find
the probability of getting:

the same number on both dice.

o View Text Solution



https://dl.doubtnut.com/l/_DRfiAdo521CD
https://dl.doubtnut.com/l/_y5mFkRPA3vi4

43. Two dice are thrown at the same time. Find
the probability of getting:

different numbers on both dice.

o View Text Solution

44, A coins tossed two times. Find the

probability of getting at most one head.

° View Text Solution



https://dl.doubtnut.com/l/_sh8UKKNNYROK
https://dl.doubtnut.com/l/_ZRZxZ1CQiIdC

45. Two dices were rolled once. Find the
probability of getting such numbers on the

two dice, whose product is 12.

o View Text Solution

Short Answers Sa li Type Questions

1. Apoorv throws two dice at once and
computes the product of the numbers

appearing on the dice. Peehu throws one die


https://dl.doubtnut.com/l/_TJEnFK5k17VB
https://dl.doubtnut.com/l/_m6KgvLZ5SE1T

and squares the number that appears on it.
Who has a better chance of getting the

number 36. Why?

o View Text Solution

2. From the following distribution, find

median:

Closses | 500-600 600-700 | 700-800 800-900 | 900 -1000
Frequency 3 ' 26 32 ! 32 20 30

o View Text Solution



https://dl.doubtnut.com/l/_m6KgvLZ5SE1T
https://dl.doubtnut.com/l/_Ds26CpyMSGmE

3. The probability of selecting a blue marble at
random from a jar that contains only blue,
black and green marbles is % The probability
of selecting a black marble at random from
the same jar is 1 If the jar contains 11 green

marbles, find the total number of marbles in

the jar.

o View Text Solution



https://dl.doubtnut.com/l/_F2IZht85Mmh2

4. Read the following passage and answer the
questions given at the end:

Diwali Fair

A game in a booth at a Diwali fair involves
using a spinner first. Then, if the spinner stops
on an even number, the player is allowed to
pick a marble from a bag. The spinner and the
marbles in the bag are represented in the
figure.

Prizes are given when a black marble is
picked.Shweta plays the game once.

What is the probability that she will be


https://dl.doubtnut.com/l/_m12RzYy9CSaJ

allowed to pick a marble from the bag?

o View Text Solution

5. Read the following passage and answer the
questions given at the end:

Diwali Fair

A game in a booth at a Diwali fair involves

using a spinner first. Then, if the spinner stops


https://dl.doubtnut.com/l/_m12RzYy9CSaJ
https://dl.doubtnut.com/l/_O63wz6S0vTad

on an even number, the player is allowed to
pick a marble from a bag. The spinner and the
marbles in the bag are represented in the
figure.

Prizes are given when a black marble is
picked.Shweta plays the game once.

Suppose she is allowed to pick a marble from
the bag, what is the probability of getting a
prize, when it is given that the bag contains 20

balls out of which 6 are black?



https://dl.doubtnut.com/l/_O63wz6S0vTad

° View Text Solution

6. Calculate the mode of the following

distribution:
Class '_ | 10as 1520 10 hIe20-25 25-30 30-35
Freqlency.. 4 7 mapbe 20 R 1

o View Text Solution

7. Calculate the mean of the following data:

47 8:11 ; 12-15 16-19

° View Text Solution



https://dl.doubtnut.com/l/_O63wz6S0vTad
https://dl.doubtnut.com/l/_lOLqd8LucqSI
https://dl.doubtnut.com/l/_NhbTPNRvuVXF

8. The following table gives the number of
pages written by Sarika for completing her
own book for 30 Calculate the average number

of pages writen in 30 days.

16-18 1921 | 22-24 25-27 28-30

o View Text Solution

9. Find the mode of the following frequency

distribution.


https://dl.doubtnut.com/l/_NhbTPNRvuVXF
https://dl.doubtnut.com/l/_vqYpm43N2gzn
https://dl.doubtnut.com/l/_ok6naqgKZfSU

' Class 4 Frequericy:
0-10 g
10-20 10
20-30 10
30-40 16
40-50 12
50-60 ‘6
60-70 7

o View Text Solution

10. All kings, jacks and diamonds have been
removed a pack of playing cards and the
remaining cards are well-shuffled. A card is

then drawn at randm. Find the probability that


https://dl.doubtnut.com/l/_ok6naqgKZfSU
https://dl.doubtnut.com/l/_PFchm6bDQDOd

the drawn card is a

face card.

o View Text Solution

1. All kings, jacks and diamonds have been
removed a pack of playing cards and the
remaining cards are well-shuffled. A card is
then drawn at randm. Find the probability that
the drawn card is a

black card.

o View Text Solution



https://dl.doubtnut.com/l/_PFchm6bDQDOd
https://dl.doubtnut.com/l/_HYaK9LeQdR0K

12. The daily income of a sample of 50

employees are tabulated as follows:

Find the mean daily income of the employees.

1-200 201-400

401-800

- 601-800

14 15

17

o View Text Solution

13. A bag contains 12 balls out of which some

are white and the others are red.

If the

probability of drawing a white ball at random


https://dl.doubtnut.com/l/_HYaK9LeQdR0K
https://dl.doubtnut.com/l/_RU1BsDGAToyO
https://dl.doubtnut.com/l/_FI4rczQll0ON

from the bag is 3 then find how many red

balls are there in the bag.

o View Text Solution

14. An aircraft has 120 passenger seats. The
number of seats occupied during 100 flights is
given in the Determine the mean number of

seats occupied during the flights.

| Numbe.of seats | 100-104 104-108 108-112 112-116 116-120
Frequency . - 15 20 32 18 15

o View Text Solution



https://dl.doubtnut.com/l/_FI4rczQll0ON
https://dl.doubtnut.com/l/_ibAfImSQ0WnQ
https://dl.doubtnut.com/l/_kQtj43p2ozVo

15. A game consists of tossing a one-rupee
coin 3 times and noting the outcome each
time. Ramesh wins the game if all the tosses
give the same result (i.e. there heads or three
tails) and looses otherwise. Find the

probability of Ramesh losing the game.

° View Text Solution

16. Two different dice are thrown together.

Find the probability that the numbers


https://dl.doubtnut.com/l/_kQtj43p2ozVo
https://dl.doubtnut.com/l/_IoFg9n0Bt7Q2

obtained.

have a sum less than 7

° View Text Solution

17. Two different dice are thrown together.
Find the probability that the numbers
obtained.

have a product less than 16

o View Text Solution



https://dl.doubtnut.com/l/_IoFg9n0Bt7Q2
https://dl.doubtnut.com/l/_bIWjknmmYXZO

18. Two different dice are thrown together.
Find the probability that the numbers
obtained.

is a doublet of odd numbers.

o View Text Solution

19. A lot consists of 144 ball pens of which 20
are defective. The customers will buy a ball
pen if it is good, but will not buy a defective

ball pen. The shopkeeper draws one pen at


https://dl.doubtnut.com/l/_YeBU8gEIMesH
https://dl.doubtnut.com/l/_q4BkdycNeT8m

random from the lot and gives it to the
customers. What is the probability that

customer will buy the ball pen

o View Text Solution

20. A lot consists of 144 ball pens of which 20
are defective. The customers will buy a ball
pen if it is good, but will not buy a defective
ball pen. The shopkeeper draws one pen at

random from the lot and gives it to the


https://dl.doubtnut.com/l/_q4BkdycNeT8m
https://dl.doubtnut.com/l/_KTilIrje9pWT

customers. What is the probability that

customer will not buy the ball pen

° View Text Solution

21. The weights (in kg) of 50 wrestlers are
recorded in the following table

find the mean weight of the wrestlers.

Welght,(in k). 100-110 | 110-120 | 120-130 | 130-140 | 140-150 |
Number of Wrestlesr 4 14 E: 8 3|

o View Text Solution



https://dl.doubtnut.com/l/_KTilIrje9pWT
https://dl.doubtnut.com/l/_mKtjnE8uNvBp

22. A coin is tossed 3 times. Write all the
possible outcomes. Find the probability of

getting at least 2 heads.

o View Text Solution

23. Black aces and black queens are removed
from a pack of 52 cards. The remaining cards
are reshuffled and then a card is drawn. Find
the probability of getting:

a black card

| & I


https://dl.doubtnut.com/l/_7mFRTyRBf7Uq
https://dl.doubtnut.com/l/_LAjCaMB2MM1A

| ¥ View Text Solution |

24. Black aces and black queens are removed
from a pack of 52 cards. The remaining cards
are reshuffled and then a card is drawn. Find
the probability of getting:

an ace.

o View Text Solution

25.1n a single throw of a pair of different dice,

what is the probability of getting


https://dl.doubtnut.com/l/_LAjCaMB2MM1A
https://dl.doubtnut.com/l/_uN35AY0Kn1mL
https://dl.doubtnut.com/l/_Fbj0yRAF9HQw

a prime number on each dice

o View Text Solution

26. In a single throw of a pair of different dice,
what is the probability of getting

a total of 9 or 117

o View Text Solution

27. A carton of 24 bulbs contain 6 defective

bulbs. One bulb is drawn at random. What is


https://dl.doubtnut.com/l/_Fbj0yRAF9HQw
https://dl.doubtnut.com/l/_UkjDe0ft9H2Y
https://dl.doubtnut.com/l/_N0pglAdESMKO

the probability that the bulb is not defective ?
If the bulb selected is defective and it is not
replaced and a second bulb is selected at
random from the rest, what is the probability

that the second bulb is defective?

o View Text Solution

28. At a fete, cards bearing numbers 1 to 1000,
(one number on one card, are put in a box.
Each player selects one card at random and

that card is not replaced. If selected card has a


https://dl.doubtnut.com/l/_N0pglAdESMKO
https://dl.doubtnut.com/l/_DavQYPw5iKZu

perfect square greater than 500, the player
wins a prize. What is the probability that:

the first player wins a prize?

o View Text Solution

29. At a fete, cards bearing numbers 1 to 1000,
(one number on one card, are put in a box.
Each player selects one card at random and
that card is not replaced. If selected card has a
perfect square greater than 500, the player

wins a prize. What is the probability that:


https://dl.doubtnut.com/l/_DavQYPw5iKZu
https://dl.doubtnut.com/l/_b3aTJ5kmRFip

the second player wins a prize, if the first has

won?

° View Text Solution

30. The table below shows the salaries of 280
persons:

Calculate the median salary of the data.

Salary (In thousqﬁea?g)' : NéjﬂﬁPgrsim } Salary (h"'lthousal:ld )., grj_u}oﬁﬁe:'sons )
5-10 49 30-35 7
10-15 133 35-40 4
15-20 63 40-45 2
20-25 1 15 45-50 1
25-30 6 ED

o View Text Solution



https://dl.doubtnut.com/l/_b3aTJ5kmRFip
https://dl.doubtnut.com/l/_xx2h66PWIjDB
https://dl.doubtnut.com/l/_Y7jpaJtey7ac

31. A bag contains 15 white and some black
balls. If the probability of drawing a black ball
from the bag is thrice that of drawing a white

ball, find the number of black balls in the bag.

o View Text Solution

32. From a pack of 52 playing cards, Jacks,
Queens and kings of red colour are removed.
From the remaining, a card is drawn at

random. Find the probability that drawn card


https://dl.doubtnut.com/l/_Y7jpaJtey7ac
https://dl.doubtnut.com/l/_WHzxjg0GGa8t

is:

a black

° View Text Solution

33. From a pack of 52 playing cards, Jacks,
Queens and kings of red colour are removed.
From the remaining, a card is drawn at
random. Find the probability that drawn card
is:

a card of red colour

o View Text Solution



https://dl.doubtnut.com/l/_WHzxjg0GGa8t
https://dl.doubtnut.com/l/_GlvRVOg2rVVM

34. From a pack of 52 playing cards, Jacks,
Queens and kings of red colour are removed.
From the remaining, a card is drawn at
random. Find the probability that drawn card
is:

a card of black colour

° View Text Solution

35. Two unbiased coins tossed simultaneously

A
then the probability of getting no head is B


https://dl.doubtnut.com/l/_GlvRVOg2rVVM
https://dl.doubtnut.com/l/_q9LFN8yBIvEt
https://dl.doubtnut.com/l/_GbMU8y3pCwa6

then (A + B)? is?

o View Text Solution

36. If odds in against of an event be 3 : 8, then

the probability of occurrence of this event is?

o View Text Solution

37. The probability of selecting a red ball at
random from a jar that contains only red, blue

1
and orange balls is 1 The probability of


https://dl.doubtnut.com/l/_GbMU8y3pCwa6
https://dl.doubtnut.com/l/_DnGT4kakNxw0
https://dl.doubtnut.com/l/_ZGOCC6VF568v

selecting a blue ball at random from the same

jar is 3 If the jar contains 10 orange balls, find

the total number of balls in the jar.

o View Text Solution

38. The following table gives the number of
participants in a yoga camp:

Find the modal age of the participants.

P
Age (in gé‘%ggﬁ.‘ :{ 20-30 30-40 40-50 50-60 60-70
No..of Participafes 8 40 58 90 83

o View Text Solution



https://dl.doubtnut.com/l/_ZGOCC6VF568v
https://dl.doubtnut.com/l/_5dc32OnsgHhf
https://dl.doubtnut.com/l/_nVdJGzFl6FYL

39. Calculate the mean of the following

frequency distribution:

30-50 50-70 70-90 90-110 110-130
8 12 20 3 2

o View Text Solution

40. Two different dice are thrown at the same
time. Find the probability that the number
appearing on the twon dice

Have a sum 8.

° View Text Solution



https://dl.doubtnut.com/l/_nVdJGzFl6FYL
https://dl.doubtnut.com/l/_lkL6RSncfF9P

41. Two different dice are thrown at the same
time. Find the probability that the number
appearing on the twon dice

Are first even and second odd.

o View Text Solution

42. A box contains 90 discs which are
numbered from 1 to 90. If one disc is drawn at

random from the box, find the probability that


https://dl.doubtnut.com/l/_lkL6RSncfF9P
https://dl.doubtnut.com/l/_NBlH1aBloW49
https://dl.doubtnut.com/l/_CHu40TkDjKTp

it bears

a two-digit number,

° View Text Solution

43. A box contains 90 discs which are
numbered from 1 to 90. If one disc is drawn at
random from the box, find the probability that
it bears

a number divisible by 5.

° View Text Solution



https://dl.doubtnut.com/l/_CHu40TkDjKTp
https://dl.doubtnut.com/l/_NX80jJEfSdih
https://dl.doubtnut.com/l/_OhjG8rKjoRKn

44, A box contains 90 discs which are
numbered from 1 to 90. If one disc is drawn at
random from the box, find the probability that
it bears

perfect square number.

° View Text Solution

45, Peter throws two different dice together
and find the product of the two numbers

obtained. Rina thrown a die and squares the


https://dl.doubtnut.com/l/_OhjG8rKjoRKn
https://dl.doubtnut.com/l/_pJaPIxeWHblC

number obtained. Who has the better chance

to get the number 25.

° View Text Solution

46. A die is thrown twice. Find the probability
that:

5 will not come either time.

° View Text Solution



https://dl.doubtnut.com/l/_pJaPIxeWHblC
https://dl.doubtnut.com/l/_P80PRhoIjsJX

47. A die is thrown twice. Find the probability
that:
The sum of numbers on the two dice is not

more than 5.

o View Text Solution

48. A game of chance consists of spinning an
arrow on a circular board, divided into 8 equal
parts, which comes to rest pointing to one of

the numbers 1, 2, 3, ..., 8 which are equally


https://dl.doubtnut.com/l/_ucf9Cgrbd9Bj
https://dl.doubtnut.com/l/_wpko8QB1sn7U

likely outcomes. What is the probability that
the arrow will point at

an odd number

o View Text Solution

49, A game of chance consists of spinning an
arrow on a circular board, divided into 8 equal
parts, which comes to rest pointing to one of
the numbers 1, 2, 3, ..., 8 which are equally

likely outcomes. What is the probability that


https://dl.doubtnut.com/l/_wpko8QB1sn7U
https://dl.doubtnut.com/l/_7Vn8wQr2J2Vq

the arrow will point at

a number greater than 3

° View Text Solution

50. A game of chance consists of spinning an
arrow on a circular board, divided into 8 equal
parts, which comes to rest pointing to one of
the numbers 1, 2, 3, ..., 8 which are equally
likely outcomes. What is the probability that
the arrow will point at

a humber less than 9.

| e |


https://dl.doubtnut.com/l/_7Vn8wQr2J2Vq
https://dl.doubtnut.com/l/_QMFTwv0Eose3

L ® View Text Solution I

51. Two different dice are thrown together.
Find the probability that the numbers
obtained have:

even sum, and

o View Text Solution

52. Two different dice are thrown together.

Find the probability that the numbers


https://dl.doubtnut.com/l/_QMFTwv0Eose3
https://dl.doubtnut.com/l/_IB7G7sxql6xl
https://dl.doubtnut.com/l/_JeIKw6Re89u5

obtained have:

even product.

° View Text Solution

53. A number s is selected at random from the
numbers 1, 2, 3 and 4. Another number vy is
selected at random from the numbers 1, 4, 9
and 16. Find the probability that product of x

and y is less than 16.

° View Text Solution



https://dl.doubtnut.com/l/_JeIKw6Re89u5
https://dl.doubtnut.com/l/_1LiNyi0sCbDS
https://dl.doubtnut.com/l/_izJBl8WkyJiU

54. A number x is selected from the numbers 1,
2, 3 and then a second number y is selected
randomly from the numbers 1, 4,9. What is the
probability that the product xy of the two

numbers will be less than 9?

o View Text Solution

55. A bag contains 24 balls of which x are red,
2x are white and 3x are blue. A ball is drawn at
random. What is the probability that it is:

not a red ball?


https://dl.doubtnut.com/l/_izJBl8WkyJiU
https://dl.doubtnut.com/l/_d6PYaeAW6o1j

o View Text Solution

56. A bag contains 24 balls of which x are red,
2x are white and 3x are blue. A ball is drawn at
random. What is the probability that it is:

a white ball?

o View Text Solution

57. A bag contains 24 balls of which x are red,

2x are white and 3x are blue. A ball is drawn at


https://dl.doubtnut.com/l/_d6PYaeAW6o1j
https://dl.doubtnut.com/l/_mNfRsWCanXB5
https://dl.doubtnut.com/l/_JzdizJ5yTDV8

random. What is the probability that it is:

either a blue or a white ball?

° View Text Solution

58. In the figure a disc is shown on which a
. . . a .
player spins on arrow twice. The fraction 5 IS
formed, where 'a' is the number of sector on
which arrow stops on the first spin and 'b' is
the number of the sector in which the arrow
stops on the second spin. On each spin, each

sector has equal chance of selection by the


https://dl.doubtnut.com/l/_JzdizJ5yTDV8
https://dl.doubtnut.com/l/_5fNRjKuRiff4

arrow. Find the probability that the fraction

o View Text Solution

Long Answer Type Questions


https://dl.doubtnut.com/l/_5fNRjKuRiff4

1. The average score of boys in the
examination of a school is 71 and that of the
girls is 73. The average score of the school in
the examination is 71.8. Find the ration of the
number of boys to the number of girls who

appeared in the examination.

o View Text Solution

2. The mean of the following frequency

distribution is 62.8 and the sum of all the


https://dl.doubtnut.com/l/_xdWGeWClwVJM
https://dl.doubtnut.com/l/_QwLyxmQ0YpdT

frequencies is 50. Compute the missing

frequencies f; and fs.

Classes | 0-20 20-40 | 40-60 | 60-80 | 80-100 | 100-120
Frequency™®: - 5 f 10 % i 7 8

o View Text Solution

3. The distribution given below show the
number of wickets taken by bowlers in one-day
cricket matches, Find the mean and the

median for the numbers of wickets taken.

Number of wickets. | 20-60 |60 -100 |100-140 | 140- 180 | 180 - 220 | 220 - 260
Number of Persons: 7 5 16 12 2 3

o View Text Solution



https://dl.doubtnut.com/l/_QwLyxmQ0YpdT
https://dl.doubtnut.com/l/_zldiDBqmjuky

4. The median of the following data is 525.

Find the values of x and vy, if total frequency is

100:
slelg|s(g)5z2[8z]8
308 8|8 |8|8|8|8|8]|s
Fgequgnggjzsxuﬂzoys?:l

o View Text Solution

5. Find the mean marks of the students for the

following distribution:


https://dl.doubtnut.com/l/_zldiDBqmjuky
https://dl.doubtnut.com/l/_d8t2Kdt0Z5IM
https://dl.doubtnut.com/l/_DWioqfztTeQc

1 Markes 57 T Nufiber of Students

0 and above 80
10 and above 77
20 and above 72
30 and above 65
40 and above " g
50 and above 43
60 and above 28
70 and above 16
B0 and above 10
90 and above 8
100 and above 0

o View Text Solution

6. Find the values of frequency 'x' and 'y' in the
following frequency distribution table, if N =

100 and median is 32.

Marks N 0-10 10-20 20-30 30-40 40-50 50-60 60-70
No. of Students. 10 X 25 30 Y 10 100



https://dl.doubtnut.com/l/_DWioqfztTeQc
https://dl.doubtnut.com/l/_TDi7htv5Rzpo

° View Text Solution

7. The weights of tea in 70 packets are shown
in the following table:

Find the mean weight of the packets.

“Weight (in g) 200-201 | 201-202 202-203 | 203-204 | 204-205 | 205-206
.Number of packets..| 13 27 18 10 1 1

° View Text Solution

8. If the median of the following frequency

distribution is 32.5. Find the values of f; and


https://dl.doubtnut.com/l/_TDi7htv5Rzpo
https://dl.doubtnut.com/l/_7JPAJYcbhlWx
https://dl.doubtnut.com/l/_6LmfvNkuWvAk

fo-

i} " Class. " Frequency
0-10 fi
10-20 5
20-30 8
30-40 12
40-50 £
50-60 3
60-70 2
Total 40

o View Text Solution

9. The mean of the following distribution is 18.

Find the frequency of the class 19-21.

13-15 15-17 17-19 19-21 21-23 23-25
6 9 13 f 5 4



https://dl.doubtnut.com/l/_6LmfvNkuWvAk
https://dl.doubtnut.com/l/_ZTNDXoRIeTsd

| ' View Text Solution |

10. From a pack of 52 playing cards. Jacks and
kings of colour and Queens and Aces of black
colour are removed. The remaining cards are
mixed and a card is drawn at random. Find the
probability that the drawn card is.

a card of red colour

o View Text Solution



https://dl.doubtnut.com/l/_ZTNDXoRIeTsd
https://dl.doubtnut.com/l/_a7839cyPJ2SE

11. From a pack of 52 playing cards. Jacks and
kings of colour and Queens and Aces of black
colour are removed. The remaining cards are
mixed and a card is drawn at random. Find the
probability that the drawn card is.

a Jack of black colour

o View Text Solution

12. From a pack of 52 playing cards. Jacks and

kings of colour and Queens and Aces of black


https://dl.doubtnut.com/l/_0SwTqYzVj5Op
https://dl.doubtnut.com/l/_Pv7eTpMu8HtU

colour are removed. The remaining cards are
mixed and a card is drawn at random. Find the
probability that the drawn card is.

a face card

° View Text Solution

13. Daily wages of 110 workers, obtained in a
survey, are tabulated below:
Compute the mean daily wages and modal

daily wages of these workers.

%)..;| 100-120 | 120-140 140-160 | 160-180 180-200 | 200-220 | 220-240

Number of Workers)| 10 15 20 22 18 12 13

| = 1


https://dl.doubtnut.com/l/_Pv7eTpMu8HtU
https://dl.doubtnut.com/l/_50b362HPLFCt

l &J View Text Solution I

14. The mean of the following distribution is

18. Find the frequency f of the class 19-21.

Class 11-13 | 13-15 | 15-17 | 17-19 | 17-19 | 19-21 | 21-23 | 23-25
 Freguency 3 6 9 13 13 f 5 4

° View Text Solution

15. Find the unknown etries a, b, ¢, d, e, f in the

following distribution of the heights of the


https://dl.doubtnut.com/l/_50b362HPLFCt
https://dl.doubtnut.com/l/_RCrcF02ZwarA
https://dl.doubtnut.com/l/_RJTtKNQIVm6q

students in a class:

Heloht (nom) ], Freqliency | "Cuinilative Frequenci '
150-155 12 a
155.160 b 25
160-165 10 c
165-170 .d 43
170-175 e 48
175-180 2 £

Total 50 J

o View Text Solution

16. A card is drawn at random from a well
shufflied deck of playing cards. Find the
probability that the card drawn is :

a card of spade or an ace.

o View Text Solution



https://dl.doubtnut.com/l/_RJTtKNQIVm6q
https://dl.doubtnut.com/l/_z9gkamynFzLI

17. A card is drawn at random from a well
shuffled deck of playing cards. Find the
probability that the card drawn is :

a black king.

o View Text Solution

18. A card is drawn at random from a well
shufflied deck of playing cards. Find the
probability that the card drawn is :

neither a jack nor a king.


https://dl.doubtnut.com/l/_z9gkamynFzLI
https://dl.doubtnut.com/l/_YYJALYfkkATl
https://dl.doubtnut.com/l/_8wfY2orlnYTn

° View Text Solution

19. A card is drawn at random from a well
shuffled deck of playing cards. Find the
probability that the card drawn is :

either a king or a queen.

o View Text Solution



https://dl.doubtnut.com/l/_8wfY2orlnYTn
https://dl.doubtnut.com/l/_0y0Z9lSBWvMX

